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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]

2600 -

2500 -

2400 -

2300 -

2200

2100

2000 Warning: col ['ECC’, 'FVIEC'] is missing




Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-15 0
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P3-15
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Zit[2160.0 (9%) 630. 0 329333 %EC: 2080.0, PH: 6.0
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ZRIASEPRIERE91. 0 ml.

91.0), AIREHT—I@% XAH45
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RERSEEBEEC (2590.0) Hi&EEC (2000.0) REIK, BHE

HEEIKECE (2590. 0 vs 4440.0) 35
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P3-15

BriE) | EBIATK (D) | EHE (EH/HK) | XK ERE

07:30 180 50.0 5| {BRig@07:30 Fzh (FRPERE)
08:15 180 50.0 BE| {Ri&e08:15 Fz (REAEHEE)
09:20 180 50. 0 RS Ri%@09:20 Fzi (REEEE)
10:20 180 50.0 | Ri%@10:20 Fz1 (REERESE)
11:20 180 50.0 el Rige11:20 Fzy (REAEHE)
12:10 180 50.0 B Rige12:10 Fzy (REAERE)
12:55 180 50.0 RS {Rige12:55 Fzf (REERE)
13:40 180 50.0 RS {Ri&e13:40 Fzf (REERSE)
14:25 180 50. 0 BS| 1Ri%e14:25 Fzh CGREAMEESE)
15:20 180 50.0 |Z=| 1Ri%e15:20 Fz1 (GRBERSE)
23t+]1800.0 (10)%) 500. 0 323 KEC: 1840.0, PH: 6.0

MERRNERE STREAERST (117.0 : 68.0), AIEEAT—WMZ XI5
FRGEBERTIC (180) 5T0HA (132. 0) A FF, W REHIT % MEIERS X XIER
ZRIASEBREEiRL68. 0 ml.

large discrepency for begining water status (27:162.0), set to 54.0 ml.
RE X i3t B RECE IR HR k.

FEXRFERIEC (2535.0) 5iZEEC (2000.0) {REKRK, 1HHRE

#[ERECE (2535. 0 vs 4200.0) i 5

REREBLIFHHEREC/PHETR K, AIRERZIIRENRTK
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